D V5-1>1 @ 5-V5>5- 6
® V2-1<+3-1 @ Vi8+2> V15+2
@—\/5>—\/5

® —VB - (< VB) = VB + vB <0
. —V6<—-+5




AF=?
= % 3x%y + 6xy 9 Q15
=)

2+2
@3(x+2) ® x
@ %y

3x2
@ xy+2 ®

= x+2)
(A1) = 3x (xy + 2y) = 3xy (




y:
a(z—p)”

y)\




4. a0, \/(la)? & TS| ShR?

® -16a? @ -4a 3 2a

V/(-4a)? = 4a




5.

= Al T a, b, c i BAS SHEA UERd 227

a=V3+3,b=5-vV2,c=4

D a<b<c @ b<a<c

@ c<a<b ® c<b<a

b—c=(-V2)-4=1-V2<0,b<c
a-c=(V3+3)-4=vV3-1>0,a>c
S.b<c<a
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8. (2x-a)P=4+12x+b LW, a+b o 27D a, b= )

® -12 @ -6 (@)6 @ 12 ® 18

B

(2x)2 —=2x 2xx a+ (-a)? = 4x? — dax + a* °|B2
—4a=12, a=-3

b=a?>=9

a+b=(-3)+9=6




9. e F umA Un e BEA Q42

O 32+ Tx+2 @ x24+3x+2
@x2—5x+6 ® 2x2+3x-2

® 2x24+7x+6

B

D3x2+7x+2=Bx+1)(x+2)
@x+3x+2=(x+1)(x+2)
® 2x% + Tx+6 = (2x + 3)(x + 2)
@ x?—5x+6=(x-2)(x-3)
®2x?+3x-2=(x+2)(2x-1)




DO x2-6x-2= @ x2-3x-4=0
@2x2—2x+2= @ 2x2—4x+2=0

® x2-x-12=0

@ D=(-2)2-4x2x2<0: 347} glct.




11. oA y = 2% - 2ax + a® —a + 3 & HAH ] A 2 AHEHO U=

o, % a 9] 2kl W

@ a>0 @ a<3 ® a>3
@a<0 ® 0<a<3

y=x>-2ax+a’>-a+3=(x-a)?-a+3, HAH Fx7}
(a, —a+3)
na<0, —a+3>0%,a<0, a<39%E2=2 g<00°]|t}




12.

2 5 4 FAVE 22 29
D 4> V1541 @3+x/5>\/5+«/§
® V2+1>3 @ 3-V2>4-12

B

@® 4> Vi5+1 oA
4-v15-1=3-+V15<0,
L d< V1541

@ 3+ V5> V5 + V8 oA
3+ V5-V5-V8=3- 18>0,
3+ V5> V5+ V8

® V2+1>3 A
V2+1-3=12-2<0,. V2+1<3

@3- V2>4- V2 A
3-V2-4+V2=-1<0,
L 3-V2<4- 2

_TV20 5V42
980 — V1050
<0
35




G- VG VE- VIS _
\/5 - ‘/5 —a\/g“r‘b\/m
a+b 9 #2?

13. A o, {25 a, b ol Histe]

17 3 13 23
B
Vi- V6 V2- 15
V2 V5
_ (V5-V6) V5 - (V2 - V15)V2
- V10
_ 5- 30+ V30-2
- V10
_ 3
V10
_3VI0
T 10
azO,bzl—OO]Ef;a+b:E




14. x of T3 o)A ex2 - 13x-20 & 2l

F825] g A10] (ax-5)(5x+b)
A, a+b+c o q2?

D 16 @ 17 @ 18 @ 21 @22

B

(ax - 5)(5x + b) = bax? + (ab — 25)x — 5b
=cx? - 13x-20
5a=c,ab—-25=—-13 , =5b = —20
b=4,a=3, c=15
La+b+c=3+4+15=22




A2
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15. o2 BH7] F xy(2x + 3y) —xy(x +y) & QIS B5F 41

1=
Q@ xy O x+y © x+2
® 2x+ 3y @ x(x+2y) @ y(x+y)
ONGRC) 2)0,©, ® ® 0,06
@ ©, 6,0 ® ©,0,6

xy(2x + 3y) — xy(x +y) = xp{(2x + 3y) = (x +y)}
= xy(x + 2y)




© x%2 =28
® ¥*+4x=x-3
@ (x-2)2=25

® (x+1)2+4=x

® (x+1)(x—4)=x*(x+2)

®ae @ ©,©
@e. @ ® © 6

® 0,60

B

@ x> +2x+1+4=x
2x+5=10: LA 2]

@ 22 -3x-4=x%+2x?

B+ +3x+4=0: FAAL




® 3x2-27=0

@ x24+4x=0

@ 2x>2-7x+6=0

-, x=-2

ne,
ox,

e
&
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g
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=
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Q
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at
Il
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1o,
4
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=
I
ul\D
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Il
(ol
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Q
+
ol

® 3

(x=2)(x=b)=0

¥ -2+b)x+2p=0
24+b=-a, 2b=-a-5
Lb=-3,a=1
sLa+b=-2




19. o5 oA A FollA 22 A7t 170 A7

D x2+10x=-24 @ x2-5x-14=0
@2x2—8x+8:0 @ x2+15=-8x

® 3x2+18x-48 =0

B

=9 it 1700l S22 7HMoF skl
T2 7HA A (A FA)= 02 Folofof gt}
®@2x2-8x+8=0

2(x—4x+4)=0

2(x-2)2=0

o =2 (5D




20.

FoRRE £o] 15m H= tolYHiolq +gdTt AE Tl 25
27m 2 HolE Atk x 2 F FIA7H AT R E o WolAl
£ EolE (=3x% + 27x + 15)m 2t & wf, £G4 9] 017} 57m
7} s el WE AR

—-3x% +27x + 15 =57
3(x2-9x+14)=0
3(x=2)(x=7)=0

x=2,7

webA] 4% A 7 % oltt.




21. olAa4 y = a2 of thoto] ntel] L S AL rh= ot

9 _Jemxdeonsex

© quﬂ tistod o %ol

® y7t37tstex o WY [ ]
® y 7t gastex o W9 [ ]

r
S

olct,

F

@(0,0),y,x<0,x>0 @ (0, 0), y, x>0, x<0

® (0, 0), x, x<0, x>0 @ (1, =1),y, x>0, x<0

® (0, 0), x, x>0, x<0




T w4 @2 AL nF 1EA?

~
O\
—
HV

@b2 —4ac <0

@ abc<0
©) —£>O
a
@ x;<x0<0Q M, f(x1) < flxa)

(@)a—b—l—c>0
B ‘

O x =72 wHo] F= 7o|E2 D = H2 — 4ac > 0
@a<0,b>0,c>0°EE abc <0
®a<0,c>0022 S50

a

@ x <0 Q1 FHANA x gro] S71otd y e SV ot 1=
ojlmg
x1 <x2 <0 ©°9H f(x1) < f(x2)

@f(-)=a-b+cd @22 U1 25 2 5
St

watA] £2] e A2 O, ®oltt,




23. oAy =222 +dx+k 2 yol grol HeThy <29 W, Ak
of w27

y=-2x2+4x+k=-2(x-1)2+k+2
k+2=2
k=0




24.

y=ax’+x-18 & x ¥ F Hoj A Thdt},

d o, e o Hol e

OCy) oy
oGy ol

B

(-2, 0) = Ut H 4a-2-18=0
a=>5

5x2 4+ x-18=0
(5x-9)(x+2)=0

L5

)

rr

X = x=-2

o] ©

ol ©




25. OlAAA {1+ (a+b)?} a2 -2(1-a—b)x+2 =0 2] o] A5
o, AL g+ b+ 2 9 FS F5HH?

- @0 @1 @ 2 ® 3

B

o] Agold D> 0o]lBR

= (-a=bP=2{1+ (@ +7} 20
(@a+b)?+2a+b)+1<0
“(a+b+1)2<0

L Al

a, bEAFOBR2 a+b+1=0
Ta+b+2=1




